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General Instructions :
(i) The question-paper contains two Sections Section-A (Micm-Ecr)n.omics) &
Section-B (Macro Economics). E
(i) All questions are compulsory. »

(iii) Marks for questions are indicated against ea@h.

(iv) Questfon NOS.. 1 to 10 and 18 f}, 27 ”rg(,},f(,,,;f“e type que
question carries 1 mark. Answer these qm'-snnné as per instructions. .

(v) Question Nos. 11-12 and 28-29 are very short ansier type questions
carrying 3 marks each. Answer to these should normally not exceed 30
words each.

(vi) Question Nos. 13 to 15 and 30 to 32 are short answer type ques;ogg

carrying 4 marks each. Answer to these should normally not excee
words each. ™~

(vii) Question Nos. 16-17 and 33-34 are long (fﬁfsr.ver type questions carrying 6
marks each. Answer to these should normalti] not exceed 130 words each.

(viii) Internal choice is available in some questiogg. You have to attempt only one
of the given. choice.

(ix) Word limit is not applicable to formulae,

questions.

stions. Each

numericals and diagrammatical

ALy

AqFT - 3 [M. M. : 40

SECTION - A
[ efte ardeTe ]

[ Micro Economics ]

[ aEfS 98]

[ Objective Type Questions ]

B ge 2 @8 BT §rd

Choose the correct option of the following questions :

By e T e
AL e el 8
(D) F FE FHC

Pt R0
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Equilibrium point is the pointlgt which the force of demand

o
(A) goes back and forth Cd

(C) are equal

(4)

(B)
(D)

is not equal

Not work

2. 91 7 @ S afe e st 7
0

A) TS oy ~

!
(B) %] ®HWa @ Mo o
(C) 9Rd H PN H gwan :

O
(D) {HI A

Which one is studied in Micro Economics ?

(A) National Income

(B) Price determination of a good

(C) Agricultural problem in India

(D) Aggregate demand

3. dEia STARE & T ¢
(A) HATHSD

() LI

Marginal Utility can be

C204787

(A) Positive

(C) Zero

1212/(Set : C) s
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Negative

All of the abgove

1212/(Set
and supply :



4. HE&HW“TQ‘:’(

AR - MR
Q

MR - ATR

A

(A)
(C)

Choose the correct equation :

(A)

On break-even point,
(A) Zero

(C) Negative

R @t # g7 # -

Fill in the blanks 2

-------------

When MR is positive, then TR will ...

e

BRI

1212/(Set : C)
4

\'j] /
(B)OTR = 22
) Q

)

(D) AR=TR xQ

B
(B8]
{™=
{B] -quR —_ é}_?_
€D Q
3
(D) "TAR=TR x Q

profit and loss of the firm will be :

(B) Positive

(D) None

2 & | 1
(@\3 q 75 T/Fod A T @)

------------- .

(Increasing at decreasing rate/Increasing at increasing rate)

212/(Set : C)
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7- (a [ﬂ "]Pjﬁlfﬂm a ﬁ“ﬁjm gua} 11{ ............. ;‘!z fq’im fﬁ‘?ﬂ’ %I (TWTW/W M) 1
In a free economy, cconomic ac tivities are controlled B seaspussisitaors
- ((mw,rnmcnt/‘darkf't fOrceﬂ
o0
. 38 N ] l
s.uﬁ‘ﬁaﬁiﬁﬁawﬁcﬂm%,ﬁ\tﬁg ............. et B (W/mi
% ;

If the clasticity of supply is greatertlhan one, the supply 18 «oocooeeeee .

(Unclastir:/Eiastiq

AT o (9 aur 10) 7 @ #wT B3 7w & : aifeerT () @7 @% (R) mwﬂi
2 fo T Beed ¥ @ w8 RET AFIT FE -
The question below (9 & 10) conr;tsts of two statements : Assertion (A) and

Reason (R). Read the statemenr% and choose one of the correct alrerﬂatwes

] given below :

il

9. SRFEA (A) : T Y@ B ARl B ff g oW FaA # 9w FRaAl 2

% (R) : Tge @ Rafy § qewrar 9% qun B W Th-3EL B W H 8

A& -

(A) W(A)w@(R)ﬁw%wﬁ(R),W(ME‘“H@W@WW%
(B) ewﬁqwm)ama%m)ﬁm[c;%ﬁwafﬁ(mm(A)Wﬂﬁm@iﬁqqﬁ
(C) W(A)w%,mazé(m%ﬂm%

9/&1&@7{ (A)W%,crﬂaﬂ%u;)w 2l
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= L7) bl
) 5 - i _ Attainaplc
Assertion (A) : Any point [Lmlsulv the budget line represents non-attainab
combinatiofdy,
i 4 s e i { pudget line
Reason (R): In a situationldf equilibrium the indifference curve anc yudag

touches each other.
ion :
optt . .
(A) Both Asscrtion (A) ant® Reason (R) are true and Reason
explanation of Assertiagn (A).
; e
(B) Both Asscrtion (A) agqd Reason (R) are truc and Reason (R
correct explanation of Wssertion (A).

(R) is the correct

) is not the

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.
10. ST (A) : ORf @ gf @ AET gEEd aRen
ﬁ(np:amgﬁagﬁﬁﬁmmwa@ﬂaﬁgﬁmﬁ%%%n

(A) Hﬁmﬂ(A)Wa?é(R)aﬁw%wﬁ(R),W(A)ﬂaﬁw@W%r

/03;--'aqﬁmﬁ(A]amafé(R)aﬁw%wﬁ(m,aﬁﬁmﬁ(mma@mﬂwﬁ%i
- (C) SR (A) T 3, W T (R) 30 &
(D) SR (A) A B, g T (R) ¥ &

Assertion (A) : Supply and Quantity Supplied are similar concept.

Reason (R) : Market Supply Schedule means the Supply Schedule of the entire
industry. .
oo
Option : (~
(A) Both Assertion (A) apg Reason (
explanation of Assertlﬁél (A).
(A) and Reason (R) are true and Reason (R) is not the

sertion (A).

R) are true and Reason (R) is the correct

(B) Both Assertion
correct explanation of As

©) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1212/(Set: C) | é;ll. -
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[ Very Short Answer Type Questions ]
11. mwﬁwm%?mqﬁmmmzﬁr@%@ | 3

What do you mean by MarginalSRevenue ? Write the formula for calculate
Marginal Revenue. S

Yar
OR

G & B 9 TN B wfoed § a7 R R

Write three differences between Rcturn to a Factor and Return to Scale.

12, 7@ Ot wlar dreew 2, wwﬁ%wwmwmﬁwzﬁﬂﬁa

I c) 3

When supply is perfectly elasticNthan explain with diagram, the effects on
equilibrium price of change in Dentand.

g.I::..L..

[ TR 999 ]

[ Short Answer Type Questions ]

13. 9fd 4 gfa & wror fo : .

Write the causes of increase in Supply.

14. WWW%?%@W@%@W@H@

What is Economic Problem ? Writﬁts causes.
. <t
YT
N
OOR

it rdeTe 1 fava qEEl F o HY

Explain the subject matter of Micro Economics,

Set: C 0
1212/(Set : C) o O 9{%{/
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= =y " Sy
0 L 75 .
™~ g -
1 .95 [
2 <110 i
3 ' C155 o =
Complete the Schedule : )
| Variable
production (U) | Total Cost Average Fixed Average varl
Cost /(Es_t———"’—‘
~ Cost
0 75 _,_._,__,_———/
[0 &}
1 o5 S S,
2 0] kol e
3 £55 N S
f A
y 4 go T
2 4D £
L op -
L [ & FeeE 5]
' [ Long Answer Type Questions ]

a%ﬂnﬁ%ziq’r‘c‘fﬁé@fw?sg%méé’r
%;ﬁamﬁfﬁmﬁhﬁﬁqﬁ

16. s 4 T A & g1 S € 7 9
| 6

ST qT ZEd AT 20 A HEhT 10 ZHEAl @ Sl

S # T B

What do you mean by Price Elasticity of Demand ? The price of a goods increase
t and its quantity demanded reduce to 10 units

from % 4 per unit to T 5 peT uni
lasticity of demand by Total Expenditure

from 20 units. CalculatéZ price €
<

Method.
o
N
o e
OR
s oy Py 3 7 @ 6 & FOTGTS A @ HCT I
What is Law of Demand ? Why does demand curve slope downwards ?

)1 2/(Set H C) Bty PTO
e N .
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0

What is perfect competition market ? Write its charactcrlsucs
L]
OR

[‘5

@ﬁﬁgﬁﬁqkﬁmwwgﬁ%%ﬁ%mWI 6

Explain with diagram : Increase in Supply, DedSase in Supply, Contraction OE
Supply and Extension of Supply.

q -9 [ M. M. : 4
SECTION - B
[ TR srdame |

[ Macro Economics ]

syl

ALt

R SR RURI LR IICTIees e = P = PSS

[T a9 )

[ Objective Type Questions ]

Rt 42t 3 e Foaey g

Choose the correct option of the following questions :

. | T T ey
(A) 3 9 B) Gﬁ{\]ﬁ TR 7
= F m
(C) T afazer C‘B‘)’E‘U‘fé{ o
In which of the following Categories are 1.:he E i
Payment divided : COI%mlC Transactiop of B
o alance
A) Visible it
A) e (B) Invisible
(C) Capital transfer s

(D) All of the aboye

1212/(Set : C) ﬁ
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(11)
19. o RRed w ol & W aR Al wwEr s
(A) T | AB) r\m
(C) wf® (D) L7t A Pg T
The quantity measured in a certain time pcrgzd is called :
(A) quds g (B)SFIOW

(C) Stock (D) None of these

20. WRA ¥ TS A FATAT DI A & ?

A 3 it e (C. S. O

(By~ wrag Red §% (R. B. 1)
(C) ‘ﬂ&,ﬁw yfeest @aeror € eq (N. S. S. 0.)
(D) & g4I

C204787

In India National|Income is calculated by :
(A) Central Statistics Organisation

(B) Reserve Bank of India

(C) National Sample Survey Organization

(D) All of these

. e R ¥ A e g o

C)
;

-

21
(A) 1940 ¥ /é) By 1935 #
ey
(C) 1950 & (D)eo1920 H
[\.
Reserve Bank of India is established in: < z
e Bank of India 1s establisneéd 1 = qu‘
(A) 1940 (8)81935 ' efe
(€) 1950 (D) 1920 b7
1212/(Set : C) o P.T.O
o 5. o2
: B3SO
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(12 ~
22. {-73?‘3;5[ ﬂ-} : ) Eo
l"--.
Ay APC =22 AY
/ - { > ey ' — —
g e
Y / /./' '
(C) APC=2. et
C @ (D) APC = %
"II r“
Choose the correct formula : O[B
<t
(A} app=2C s AY
' B e ST
By APcay C
=5 (D) APC =—
Y
R&T &7 #1 g #¢ -
Fill in the blanks :
iy e
b
o
23. ARG H A S A B oo fafer &1 @ g 2
(“fiﬂq/ﬂﬂélﬁ T/ SIS P =y
To issue currency in India ................ method is used.

(Minimum Reserve System/Proportional Fund System

{‘-\
24, TEET A GG T HAS H oo wA s 2 (W}WW{WW
i Y
Goods and Services are ................. by House%ld Sector. (Consume/Prodﬁctionj
O
o5, PT, TXHT P AT T AR coverrrnnens TIA Bl (X arfrard) 1
. to government. (Optional/Compulsory)
gt T esenes payment | /r:y

1212/(Set : C)
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p=freT 757 (26 @ur 27) § @ w7 2 7 & sifrT (A) @ T (R) T 7
gEFT 79 RY W REeq 7 @ a8 @Wcﬁmrﬁ |

The question below (26 & 27) consists of two statements : Assertion (A) and
Reason (R). Read the statements and choose one of the correct alternatives
given below :

181

ST (A) ¢ Wmaﬁﬂm%w
ﬁ(ﬂ).ﬁ—mawamgg@lmmmﬁaaﬁzl

A5 :

(A) WW(A)W‘%(R)WHW’WW(R]W(A]Wﬂﬁw@!
(B) W(A)Wﬁ(R)E{HTHF-T‘E?HﬂTﬁ?ﬁ(R],W(AJHH@WT‘T’TGI

ey i (A) ¥ §, TOg @ (R) 9 @

(D) T (A) EE ¥, T 7 (R) 6 <

Foy
2.‘4 sf 3

Assertion (A) : Factor Income is earned income.
me from abroad.

Reason (R): Domestc Income includes net factor inco

Option :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

—

. A
explanation of Assertion (A)~
(B) Both Assertion (A) and Re_‘?‘son (R) are true and Reason (R) is not the

- S
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R} is false.

(D) Assertion (A) is false, but Reason (R) is true.

r. P.T.0.

Download from www.MsEducationTv.com
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27. AT (A) : BEHIRY oF we@ e Y '
o (R) 2 OGRT D B Bl S A oy a1 boor g

=
AN) Gﬁ'cﬁ?ﬂ(A)ﬁ?ﬂﬂ?ﬁ(R)ﬂﬁfm%ﬂmmﬁg],wmjmwm%i :

|
(B) stfvys (A)ae:raa%(R)aﬁm%amm%(R),W(A)waﬁmﬁi

i

(C) S (A) 6 B, T 0% (R) o B %

| (D) S () o 3, W o (R) 7 3 ?
Assertion (A) : Scholarship is a Revenue E@enditure.

Reason (R): Scholarship does not lead to (Egeation of any assct.

o
Option : N
©

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the corres ;
explanation of Assertion (A). i

i

S
Both Assertion (A) and Reason (R) are true and Reason

(R) is not ths
correct explanation of Assertion (A). i

Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason

(B)

(C)

4
(R) is true. |

[ S-S 55 |

[ Very Short Answer Typg Questions )

; 28. Y fHU srdemEen # 100 Fiw 5@ @

«Q
Wﬁﬁ%ﬁﬁﬁmﬁm%w MPC -

S A%

? 5 B

g # fEa g 8 S :
If additional investment of ¥ 100 crore is made in an economy and Mpc _ L1
then what will be the increase in income ? 2

1212/(Set : C) %
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IYgr oo

l‘\_
OR I

N
. ' .
Tﬁiiﬁ‘lzﬁﬁﬁa aamﬂmr(wffm .
write the difference  between Full
Underemplo_\-'rm\.m Equilibrium.

Employment  Equilibrium  and

04787

20, g 8 T LI A9 { &7 ofaw aany

F _ N
write three differences between Balance f Trade and Balance of Payment.

[FIeT 959 |

[ Short Answer Type Questions ]

30. T A FE0 © ¢ TOH T ST B § T oy R 4

e

What is Tax ? Write three differences between Direct and Indirect Taxes.

31. Ueard el & @ R 4

Write four features of Capitalist Economy.

Gl

DR =
00
[’N,
=

S e R a@eﬁﬁaﬁtaﬁﬁi(/

Tell differences between Final and Intcrrr%tiiate Goods.

0

32. 7 i 9} d oA A F I R 4

Write the measures of Fiscal Policy fo control Deficient Demand.

Dowhload from www.MsEducationTv.com
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[ Long Al{%’\'er Type Questions |
r‘\
33. n@umﬁwmﬂmﬁaa@ﬂ?@wﬂﬁfﬁ@

- i " N, , : )
Which activities are not included)in the estimation of National Income.

aTYEr
OR

T@ﬂmmﬁﬁmﬁmﬁm@ﬁ

-Explain the income method of r@asuring National Income.

<

o
34.%?@4%%%@@1&{%%?@%mm| 6
/ What do you mean by Central Bank ? Write its functions.

T
OR

T | S A ¥ 7 e e B aan)

What do you mean by Money ? Write its main functions.

C2(f4787

1212/(Set : C) 2
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